

## Sumar Enteros (A)

Emplee una estrategia de enteros para encontrar cada respuesta.

$$(-86) + (-61) =$$

$$(+89) + (-99) =$$

$$(-73) + (-82) =$$

$$(+56) + (-12) =$$

$$(-69) + (+14) =$$

$$(+71) + (+6) =$$

$$(+57) + (-69) =$$

$$(-50) + (-9) =$$

$$(+5) + (-76) =$$

$$(+46) + (+12) =$$

$$(+25) + (-63) =$$

$$(+56) + (-58) =$$

$$(+58) + (+73) =$$

$$(+44) + (+5) =$$

$$(-11) + (-41) =$$

$$(-42) + (+48) =$$

$$(+2) + (-66) =$$

$$(+15) + (-21) =$$

$$(+46) + (+94) =$$

$$(+91) + (+18) =$$

$$(+53) + (+99) =$$

$$(+43) + (+78) =$$

$$(+87) + (-30) =$$

$$(+60) + (+19) =$$

$$(-30) + (+85) =$$

$$(-33) + (-80) =$$

$$(-64) + (+60) =$$

$$(+3) + (+44) =$$

$$(-70) + (-56) =$$

$$(-99) + (+48) =$$

# Sumar Enteros (A) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

$$\begin{aligned}(-86) + (-61) &= \\ &= (-147)\end{aligned}$$

$$\begin{aligned}(+89) + (-99) &= \\ &= (-10)\end{aligned}$$

$$\begin{aligned}(-73) + (-82) &= \\ &= (-155)\end{aligned}$$

$$\begin{aligned}(+56) + (-12) &= \\ &= (+44)\end{aligned}$$

$$\begin{aligned}(-69) + (+14) &= \\ &= (-55)\end{aligned}$$

$$\begin{aligned}(+71) + (+6) &= \\ &= (+77)\end{aligned}$$

$$\begin{aligned}(+57) + (-69) &= \\ &= (-12)\end{aligned}$$

$$\begin{aligned}(-50) + (-9) &= \\ &= (-59)\end{aligned}$$

$$\begin{aligned}(+5) + (-76) &= \\ &= (-71)\end{aligned}$$

$$\begin{aligned}(+46) + (+12) &= \\ &= (+58)\end{aligned}$$

$$\begin{aligned}(+25) + (-63) &= \\ &= (-38)\end{aligned}$$

$$\begin{aligned}(+56) + (-58) &= \\ &= (-2)\end{aligned}$$

$$\begin{aligned}(+58) + (+73) &= \\ &= (+131)\end{aligned}$$

$$\begin{aligned}(+44) + (+5) &= \\ &= (+49)\end{aligned}$$

$$\begin{aligned}(-11) + (-41) &= \\ &= (-52)\end{aligned}$$

$$\begin{aligned}(-42) + (+48) &= \\ &= (+6)\end{aligned}$$

$$\begin{aligned}(+2) + (-66) &= \\ &= (-64)\end{aligned}$$

$$\begin{aligned}(+15) + (-21) &= \\ &= (-6)\end{aligned}$$

$$\begin{aligned}(+46) + (+94) &= \\ &= (+140)\end{aligned}$$

$$\begin{aligned}(+91) + (+18) &= \\ &= (+109)\end{aligned}$$

$$\begin{aligned}(+53) + (+99) &= \\ &= (+152)\end{aligned}$$

$$\begin{aligned}(+43) + (+78) &= \\ &= (+121)\end{aligned}$$

$$\begin{aligned}(+87) + (-30) &= \\ &= (+57)\end{aligned}$$

$$\begin{aligned}(+60) + (+19) &= \\ &= (+79)\end{aligned}$$

$$\begin{aligned}(-30) + (+85) &= \\ &= (+55)\end{aligned}$$

$$\begin{aligned}(-33) + (-80) &= \\ &= (-113)\end{aligned}$$

$$\begin{aligned}(-64) + (+60) &= \\ &= (-4)\end{aligned}$$

$$\begin{aligned}(+3) + (+44) &= \\ &= (+47)\end{aligned}$$

$$\begin{aligned}(-70) + (-56) &= \\ &= (-126)\end{aligned}$$

$$\begin{aligned}(-99) + (+48) &= \\ &= (-51)\end{aligned}$$